R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 Insert Glazed\TX-4417-18.dwg, TX-4418

¥ Endura

PERFORMANCE STANDARD

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
International Residential Code (IRC), Sections R301 & R609 and the 2018
International Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-bome debiris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.
Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

Conditions not covered by this drawing are subject to further engineering
analysis.’ i :

TABLE OF CONTENTS

37.5" MAX. OVERALL
FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

SHEET# DESCRIPTION

1 Typical elevations, design pressures & general notes

Door panel details (lip lite insert glazing)

ESIGN PRESSURE (PSF)

0
Z =
Go
n
g
&
zE
S ST
D >_J<(O
(=) ma%
3 S| 3
ol Yo
Q 2
<
o o
> ot&
gl | ~E
@
© < al
(s o
w0 (|-
] I 1
als
ol=Z
SIS
(@S] [=]
Slx|d
':\5
oo
o|@|© %)
2 oy 1% =
o[2[E[5] O
Elslne] |@
=
=lo| < || |
s|=l_lx| [*
ow|_|&E
25|
" 19lo|@
olao
QR |W|a
< <<
o| [©|©
NENSE
— ON|<«
NEEA (=
o — |—
o
=2

Horizontal & vertical cross sections

Vertical cross sections

LIP LITE INSERT

INSWING

+35.0

-35.0

oAaTE: 12/5/13

scAlE:  N.T.S.

g lw|N

Frame anchoring

LIP LITE INSERT

OUTSWING

+35.0

-40.0

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4418

SHEET 1 oF 5

© 2013 R.W. BUILDING CONSULTANTS INC.



R:AClients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-570 (Exp. 11-1-17\C - Drawings\REV 2018 Insert Glazed\TX-4417-18.dwg, 2.8

(WOOD COMP.) “\ 207

STILE

iz

LS r— 1.75" —=]
I

1

LOCK BLOCK
(12.0" HIGH)

STLE

[WOOD COMP.)
]

INTERIOR

/A
1.

DMAR

EXTERIOR 1.6"

/1 "\ HORIZONTAL CROSS SECTION

\2/

35.75" MAX.
PANEL WIDTH
21" MAX ,
D.L.O. WIDTH E
2
&
= T
25 %0 1
3T =% IR 2
sgd 0O
% =
Nl =
0 SEE
HARDWARE
TABLE

MASONITE
insert glazed
{fiberglass)

#6 X 1-1/2" PH SMS

GLASS BITE 1/2°

INTERIOR

1/8" TEMPERED GLASS
/

B______:,/— AIR SPACE

~~—1/8" TEMPERED GLASS

STEEL SPACER
EXTERIOR QSO SEALANT

LOW TACK SEALANT

GLAZING DETAIL
Lip Lite insert Glazing

LATCH: KWIKSET SIGNATURE SERIES {991}

WIKSET
KWIKS DEADBOLY: KWIKSET SIGNATURE SERIES (980/985)

1/2" NOMINAL GLASS THK.

TOP RAIL
(WOOD COMP.)

Nﬂ.\?«-’\\¥\
o xibi ul

.
ot

Lt

2 %

M o
P
S e

PP « X
T ex
H

ra
»

.‘nafézg ¢)

FIBERGLASS SKIN

(0.075" MIN.) ‘\

‘i-\\\"\'\“'_\'\'\' A2
[ ARV

Vi
INTERIOR ’ EXTERIOR
. 1
7
FOAM CORE
(POLYURETHANE )
BOTTOM RA!L'
(WOOD COMP.)
A

-

@ VERTICAL CROSS SECTION
2

P.E.

Lyndon F. Schmidt
TEXAS P.E. #104123

P.O. Box 230 Vairico Fl. 33595
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
DOOR_PANEL DETAILS
(LIP LITE INSERT GLAZING)

PRODUCT:

LFS

UPDATE TO 2018 IBC/IRC CODE

9/16/19 |ADD "FusionFrame” OPTION &

10/25/16 |ADDED THRESHOLDS

1

2 [11/07/18|REVISED TO INSERT GLAZED ONLY |LFS| PART OR ASSEMBLY:

NOJ DATE

3

REVISIONS

pATE: 12/5/13

SCALE: N, T.S.

OWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4418

SHEET 2 oF 5

© 2013 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 Insert Glazed\TX-4417-18.dwg, 3.8

Lyndon F. Schrmidt, P.E.
TEXAS P.E. #104123

@@ 2X FRAMING 2X FRAMING
>/ - — (G>=0.42) — (G >=0.42)
[y 1 \\ o111 \
| EXT. SHEATHING || \ EXT. SHEATHING {1/
\ I = DRYWALL \ AT S \ DRYWALL
1 ] #10X2-1/2" PFH . ] | #10X 3" PFH
By -] WOOD SCREW i L] WOOD SCREW
i 1/4" MAX. it B 1/4" MAX. 14l
SHIMSPACE . frli o SHIM SPACE L1
0 Lol
SHE
o _.._,:, =10h0as)]
1N DOOR PANEL DOOR PANEL
\3/ ol S HEAD: PINE \ HEAD: "FusionFrame" (1-PIECE)
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP
(QEBD/PE 650) (QEBD/PE 650}
EXTERIOR W INTERIOR EXTERIOR » INTERIOR
' /\
VERTICAL CROSS SECTION /3 "\ VERTICAL CROSS SECTION
U Outswing shown - inswing W Outswing shown - inswing
b q also approved also approved
CORNER PADS
vy
- — ot l=— C'SINK .
AL EXT.SHEATHNG ~ SHIMSPACE (TYP.) . SHIM SPACE EXT. SHEATHING
\ JAMB: "FusionFrame™ /
) ) ) 1 OR 2-PIECE
075" ~=—= 075 T'_"l [~ 075 \ / JAMB: PINE ( ) Y S
— ' S . #10X 2-1/2" PFH e
T #10 X 2-1/2" PFH
COMPOSITE 2X FRAMING ) " WOOD SCREW WOOD SCREW
SNAP-ON (G>=0.42) 92X FRAMING
CAP \ ENDURA WEATHERSTRIP  ENDURA WEATHERSTRIP (G >=0.42)
AN (QEBD/PE 650) (QEBD/PE 650} /
2 - EXTERIOR |
il
=1
/ % LVL X ~
*"! 1.25" ““_, 1.25" e __ | 195" |=— DRYWALL/ / \#8)( 1" PEH SMS W \ DRYWALL
' #8 X 2-1/2' PFH WOOD SCREW LATCH B8 X 2.1/2"PFH
JAMB / HEAD JAMB / HEAD JAMB S HINGE )
PINE "Fusionframe” "FusionFrame” #8 X 3/4" PFH SMS STRIKE PLATE WOOD SCREW
(1-PIECE) (2-PIECE) / 1"\ HORIZONTAL CROSS SECTION

w Inswing shown - Outswing also approved

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F-—-11852

Documents Prepared By:

ENDURA
HORIZONTAL & VERTICAL

OR_ASSEMBLY:

PRODUCT:

CROSS SECTIONS

LFS
LFS
Y

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

10/25/16|ADDED THRESHOLDS

2 111/07/18|REVISED TO INSERT GLAZED ONLY |LFS | PART

3 19/16/19 |ADD "FusionFrame” OPTION &

NOJ DATE

1

OATE: 12/5/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4418

SHEET 3 of 5

© 2013 R.W. BUILDING CONSULTANTS INC.



R:AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-570 (Exp. 11-1-17\C - Drawings\REV 2018 Insert Glazed\TX-4417-18.dwg, 4.8

\\ I\
INTERIOR /( EXTERIOR INTERIOR /( EXTERIOR OURA
DOOR PANEL
e DOOR PANEL WEATHERSTRIP NTERIOR
ENDURA (QEBD/PE 450),  IERIOR
DOOR SWEEP ENDURA \
(DBK-R) DOOR SWEEP
A& / (DBK-ZAC)\

DOOR PANEL &

EXTERIOR
ENDURA
WEATHERSTRIP
(QEBD/PE 650)

»
o,
s

INTERIOR |

[ EXTERIOR]|

ST

A,
oF D
NDON F. SCHMI

Y

Q‘ L1%
%,

)

I *:7%5 4
T

..”
]
=0
;
;
:0&‘

Lyndon F. Séhmldt, P.E.
TEXAS P.E. #104123

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW

/1 "\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/"3 VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR

174" X 2-3/4" ELCO OR ITW CONCRETE SCREW
7”4\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold

W inswing Arficulating Threshold

4.56" !

INSWING ADJUSTABLE THRESHOLD
IAILAA4565

456" | |
INSWING ADJUSTABLE THRESHOLD 3

4.56" |

INSWING ADJUSTABLE THRESHOLD 9
LAIL4565

ZAI4565FN

1
l«~———— 456" ——-——-I !

- 4.56" !

! - 4.56" ; !

w Qutswing Bump Threshold

\4/ Outswing Bump Threshold

A
:‘%
A
! 4.56"
4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
TAIAA4565FN ZAI4565RDS

-4.56"

4.56" i

P.O. Box 230 Valrico FlL. 33595
Phone No.: 813.658.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

w

=

Q

S

0

wy

= "

> s @

Q a0

= o &

i3 50

0 ~d

23

5 ¥ &

o

2 =
o
o
[«

% P
5 t [19)

UPDATE TO 2018 IBC/IRC CODE
REVISIONS

9 INSWING ARTICULATING THRESHOLD

IACAA4565FN

10 INSWING ARTICULATING THRESHOLD
IACA565RDS

456"

6 INSWING ARTICULATING THRESHOLD 7 INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD
ZACL4565 ZACA4565FN ZACLAA4565

+ * IR

el

3 _ N :ﬁ

! 4.56" ! ! 4.56" ! !
1 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD
10OBL4565 1OBA565FN LOB4565RDS

13 OUTSWING THRESHOLD

[ 456" !

14 OUTSWING THRESHOLD
FOB4566

11/07/18|REVISED TO INSERT GLAZED ONLY | LFS| PART

9/16/19 JADD "Fusionframe” OPTION &
10/25/16 |ADDED THRESHOLDS

NOJ| DATE

3
2
1

oate: 12/5/13

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4418

SHEET 4 oF 5

@ 2013 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 insert Glazed\TX-4417-18.dwg, 5.8

= STy iy
g w Z 2X FRAMING HEAD ANCHORS: Lo of éfy;ll e "
& ox (BY OTHERS) #10 X 2-1/2" WOOD SCREW (PINE JAMB) PR SO = AN 7 n‘é < n g8
O #10 X 3" WOOD SCREW (1-PIECE JAMB) S Pa £% b 22
‘=0 15 s POt NG ] £ -
<=8 " E Dk oipia wu - gm 9
< R ) ™ \7 A @ E n Bu
(TYP.) = wiv § 22
% P QT P o A
SEE HINGE UG (2 Gk T 384 i
T mA DETAIL 1 T A win et g% &b
o R § 83 Eg
4 - o 082
p & i g §%0 %%
« = Z z & 359§ B
o. oo
&a o o o
5 | ™~ JAMB ANCHORS: 528 g = ok
< Eﬁ N #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) g O £ @ ég
N #10 X 3" WOOD SCREW {(1-PIECE JAMB) O 8
o
- 1 b |
3
T R SEE HINGE 95 o
DETAIL 2 . M\ g
- <
| — SEE STRIKE _/ . 2 = > §
. DETAIL L% § Z
> O &l w
=5 i
. o NG ENE
. X 4 °° 2|
) SILL ANCHORS: £ 1518 %
#10 X 2-1/2" PFH WOOD SCREW wl>
HINGE JAMB 1/4'X 2-3/4' ELCO OR STRIKE JAMB W N § z
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING ITW CONCRETE SCREW " DEADBOLT SECURITY olo
WOOD (G >=0.42) #10 X 3" PFH WS <; g §§ "
= - 1 Z
— BR5E| 2
— 521! |2
JAMB NOTES: IR olSfE @
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB, #8 X 2-1/2" PFH WS <’ 0 9 : e %
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. ) LATCH STRIKE 2|2 o
. . . PLATE ~ 199w
CONCRETE ANCHOR NOTES: \* NS g S
1. Concrete anchor locations at the comners may be adjusted to maintain the min. ; 5 :;
edge distance to mortar joints. STRIKE DETAIL NN
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to RENE
maintain the min. edge distance to mortar joints, additional concrete anchors > }? o
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 2-1/2"PFH WS " S
3. Concrete anchor table: / |~ #BX2-1/2"PFH WS L NTIZ
:. 2 i oATE: 12/5/13
#8 X 1" PFH wsé- i . " = scaLE:  N.T.S.
R e Hle — #8 X 3/4" PFH WS #8 X 1"PFH WS é:. iR =~ 48 X 3/4" PFH WS T
’Tw T~ 4" X 4“ HINGE == 4|| X 4n HlNGE CHK. BY: LFS
" tr - " " A\ . H
TAPCON® 1/4 1-3/ -1/ 4 W \“ DRAWING NO.:
ELCO . " . " TX—-4418
urRacon®| /4 1-3/ ! 4 HINGE DETAIL 1 HINGE DETAIL 2 —

© 2013 R.W. BUILDING CONSULTANTS INC.



